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1 Introduction

BraidO 0O 1926 0 0 Artin[1)| 0000000000000 0000O0OO00O0OOnN
OO0 braidd B, OODOODOOOOODOODOOODODOOO200000000
000 nO000O0O0O0ODODOODODOOOOOOOOO (0D 1)DODDODOOOO 200
braid0 0000000000000 ODOOO0ODOObDOOOO

%\
\ D
ol

O 1.1: braid

o0o00ooboobob0 Goh2000 eb0word0ODO0OODOOODOODOODOO
(1) «0 0000000000000 O00O0OO0O0O (word problem)

(2) a0 b0 conjugate (0000000 teGO0 b=t"'at 000000000
0)00000000 (conjugacy problem)

ggbobuooooboboooooobooo

BraidOOOOOD0ODO 200000 196000000 Garsidelo) 0000000
000000 Thurston[9]0 Elrifai-Morton[5]0 Birman-Ko-Lee[4d| 00000 OO
00000 algorithm OO0 0000000 O0OONO algorithm OO O braid O O
gobobobooooobbboooobobboooooobobbboooooo
000000000000 left-canonical form (Lef) 000000000000
Elrifai-Morton O algorithm O 0 0O O O O

OO0 braid 0000000000 ODODDOODOOODODOODODODOOD
0000000 [7ObraidD0000000O0O0OCOOOOOOOOOOOO
0000000 O0braid OO conjugacy problem 0 00 00O 0O O algorithm 0O O
0000000000000 bO00000o0oOO0DbOOooDOooDooDooDooon
braid 0 O conjugacy problem OO OO OO0 algorithm OO0 00 O00O0OO0OOMO
00o0000DoDO0oooooooood

gbogbbobobogbodgbogbboo20bboboboobbooobd
O000o0o0oo0oooon Elrifai-Morton O algorithm 000000000000
gboboooboob22000000000b0300 braiddDO0D0OO0OO



0000 <O00000D00D000D00D0000 18000000000 braidO A
(0 12) 000000000 braid BOODOO AT<B<A*000 r,sezZO0O
O0000O0DOo (00 3.9) 0000 Elrifai-Morton O algorithm OO0 0000 O
0000000000000 000D0O0O0DOO0 4000 braid O positive braid
0000000000 0D00O00 positive braid O positive permutation braid O
00000000 positive braid 0 000000000000 (D0 43)0000
0300000000000000000braid0D0OO0O0O0O (Lef)0DO0O0OO
0000000000 (OO0 4.13)0

A"A1Ay - Ap (A positive permutation braid)

(X
N
<N

O 1.2: A

Braid 0 OO word problem O conjugacy problem 0000000000 lef. OO0
O00000000000000005000 Lef0000 (O0ODOOword problem
00000)0000000000000 60000 conjugacy problem 000 O
O000000ooooooooooooooooooodlef. A"TAjAy--- A, O
000 A; O positive permutation braid 0 00000 (A4, 000)000O cycling
O0000wordODOODO braid0O00O0O0O0OD0O0ODOO

g
gogobbbbbbtbodooooooooobbbobbbooooooobb
gbobogbbuodgbboobbogbbob200b0bboobboobbd
ggobbbbbouoooooobbbbboooooobbbboooooo
gogobobboboogooobbbbbodooooobbooboooooad
gogobbbbboouooooobbbbbouoooooobboboboboodugo
ggbbobuoogoobbbooooooboooobbon
gogobbbboooooobobbbbboooooobbobbbbooooan
gg20000000bbbougoobobooooboboogb



2 Group

gobbobuooobobbooogboboboooobbboooobood

2.1 Finite presentation of groups

00 SO000000 (6,b) 0000000000000 ¢000000000
000000000000 ¢,b00 ¢c0000000000000000 o000
00 c=aob (000000 ab)0000

ud 21 000goobooodbbogobobooboooobooobbo
gaod

00 OO0 o0Oboobooo Sooooooobodg eb,c000d0O0ooon
O0000SO00 o00O0DODODO (semi-group) 0000000

(aob)oc=ao(boc) (2.1)
ud 22 000000000000 O0O0OOODLODOOO

00 230000 eecSO0O0000ace=coa=a0000 eO SOOO0O
000000 aob=boa=e0000 b0 « 00000000000

n

0000 SO0000 ¢a0 n000 Ga---a0 000000 a'l=e¢0000

goboooooobnb meUdOoO0O

O0ooboobd ab=5ba 000
(ab)" = a"b" (2.4)

gobobobooggoobodgo

00 00 GUO0O0O oO0ODODODODUOODLUO GUOODODODOODOGEO
0000000000000 00U0GEUOO oOO00OO0O (group) 000 O
god

00 240 OO0O0O0O0O0OOO0 gUOODOOOOOOOODOOODOOOOO
gogbobuoooobbooooboobodab



o0 0D fO0b00bo0b qoobb e0bOOO0ODOODODOOGEDO aO
gobbobuooobbbddi<e>000000 cOO0OO0OO0OOL0ODOOO

00 25 000000000000000000000O00000 {...,a%a e,
a,d’,...} 000 ZO00OOODOO0O0DOD0OODOOOOOOOO

M ={G,} 00 G, 000000AO0O000O00O0O0O0O00O000O00
O0M 00000000 200000 e00000000000000 A =
(a1,as,...,a,) 0 G, 0000 UG, 0DOOOOOODOO00O0O0OODOO00OO
0oooon

n0000 A= (a,a9,...,a,) 00000000002000 ¢ O aq O
000 G, 0000000002000 ey, 000000 n—10000
(ay,...,aai11,...,0,) 0000000 @ (000 ¢,) 00000000000
000 1000000000000 ADDOODOODO0OOO0O00000000
D00000000000000000000000000000000000
000000000000000

0000 (a,as,...,0,) 00000000000000000000000 G
O000A,BO GOOOOOOO0O (A B)=(ay,...,anb,...,by) 00000
0000 GOOO ABOOODODOOOODOODOD GO0D000O000000
00000000000 GO MOOOOOODOOO0O0O0000

00 M={x}0 2, 00000000000000000 Gy=<z,2>000
U FOMUOODOOODOODOODOO

00 2.6 FOOOOOOOOO 202 ---2% (1,#0) 000000000000
00000000 o000 zy,2y,,...,2,, 000000 G, 00000000
0000o0o0o0on

00 0O GOhO0O0O0 HO O00O00O00ODO0ODO0ODO0OO0ODbOO0 HO GOOO
O (subgroup) 0000

00 MOO GOOOOODOODOODOoOO

attay?---ay (vi=%1, s €M, i=1,2,...,71) (2.5)

r

goboobooboooboOoobooboboMDbOODOoObOD Gobobobooo
<M>0000

0027 <M>0 MODOO GO0ODODOO0OODOODOO

00 2.8 MOOOOO {ay,as,...,a,} 0000000 <M >0000000
O00000<M>0 <ay,as,...,a,>00000000 ay,a9,...,a, 0000
D000OMO <M>00000000



00 0 GO0 e,b00000000 teGU0b=t"'at 0000000000
O00b0O 000 (conjugate) 10 DO OO0

OO 0O GUOOD 0000 GOOOOOOO {ceG:cx=xc,YreG}O G
000000000000 GOOO (center) 1000

00 OO MOOOOOOOODOODOOO (DObOoD)oooOg AB,C,... 00
00000 MODOOOODOOOOODOODODOOODOODOD (cdlass)D0000ODOO1
000 (OO0 ADOOOOOOODODOD e D0DO0DO0DODODODODODODODODODODOO
00«0 ADODOOOODO

O GUO0OO0 HO GO0 «00O0OO00OGUOOOOO eH,HaODOOODOO
gooog
aH={ah:he H}, Ha={ha:hecH} (2.6)

0O GO0O00 HD GOO e, b00000eH=0bHO000000 a0 0O
HOODODOOOOOOOOOOODUODODUODHe=HOOOODOODO eaO b0
AO0oOOoobooboobobooo

00 HUOO GUOOODOOeDO GOODO0OODOODOODOOAHDOODOO DO
ooodb c0bb0bodbb0 e HFOOODOODOOODODOOOOOHO
0000 «00D00O0OD0O0 GOODOOODOOD «O0 HOOOODOODODO
gdg

00 0 GUOO «e0000 eH=HaOOOOOOOODHD GOODODOO
good

00 290000 (eH=HaeOODO)OOOOOOOOOOODODDOODOOO
00000000000 0O0O0OAHF 00000 0000000000 G/H O
00000 G/HOODOODODOUOOOOOOoooooooooo(ooooooo
HOO ¢HOODOOO (eH)'=¢'HOOO)DDOOOD GO HOOOOOOO
00(000000000)000000000000O0O0000 G/HOOOO

o0 FO {z1,2q,...,2,} 0000000000MO FOOOOOOOOOO
ERERE

Hﬂ(x)*lQi(x)“iB(x) (Fi(x) € F, Qi(x) € M, pi 1) (2.7)

0000000 FOOOODOO NVOOOODOO NOMOOOOODO F
gobobooooonod



00 0D GODOO ¢Po0gu fOoOoOoOoooOOOoOOOOOfDOD GOO GO0
00000 (D0ooobooooo)oooo

flab) = f(a)f(b) (Va,b € G) (2.8)

00 2.10 fO00000000 GOO ¢'0000000G' 00000 ¢ = f(e)
000000 {¢} 000

N= [} ={zeC: fx) =€} (2.9)
0 GOO0000oobooooooooboooo fobooooa

00 0O GO0O00 ¢oo0oo0000 fO0 (G =G 0000000f0 GO
0 G O00000poooooogo

00 211 NOO 000000000 f0O0 GOO eO G/NOO A= Na
000o0o0000ooooooooooooofO0 GO0 G/NOOOOOO
gboogbood

f(ab) = Nab = NNab = NaNb = f(a)f(b)
f(G) = G/N

00 0O GOOO o000 fOo0Oopo0b00gopooogoobooooGEOo &
gobbobuogodooo

GoOoooooooooo S=A{a,a,...,a,} 0000000000000
00000000 n000 {z1,29,...,2,} 000000000 FOOOODOO
Uob FOOOO eOOooon

Plz)=alx?---x" (v,x£1,i=1,2,...,71) (2.10)

1 72 ir

00000000000000000000000000000000
D000 FOO GOOO0O0O0O0 0000000000000 #;0 6,00
0000000 FOOOOO P(z)=ala---2 0 GOO P(a) =a*a?---a?

11 12 i1 12 ir

goooobooo fO00 NOOODOODOO
N ={R(z) € F: R(a) =¢} (2.11)
OO0 MO NOOODODODOOOODO

Qa) =e (VQ(z) € M) (2.12)



goboooboob Mmoboo

t

R(z) = [[ P(@) ' Qi(2)" Pi(x) (Piz) € F, Qi) € M, p£1)  (2.13)

=1
DDDDDDDDDDQZ-(@)DDDDDDDDDDDDDD
t
R(a) = []Pi(a)"'Qi(a)" Pya)

=1
t

= [[Pi(a) " Pi(a)
=1

= €

00 212 NOOOOOO MOOOOOO (23)00000000000000
(2.12)0 G O0O0000O00O00OO

U0 213 MOO0O0 F=<z,29,...,2, >000000000n00000
OO00000 G=<s,s,...,8,>0000000000000000O00DO
ggbooood

Qi(s) =e (VQi(x) € M) (2.14)

00 002130 MO GOOOOOOOO0O0000 MOOOOOO Q1,Qe,...,0m
0000000000000000000 GO00O000000

G :<$1,$2,...,$n|Q1,Q2,...7Qm> (215)



2.2 Permutation group

00 MOO MOOOOO MOOOOOOOOOMOOOOO 0000
MOO 00000000 2zf000000000f,¢0 MOODOOOOOODO
MOO 20 f0000 2f00002f0000 ¢0000 (2f)g000000
0MOOO 20 (2f)g 0000000 MOOOOO 2+ (zf)g000000
000 fO ¢g0O00000fgO0O000O

z(fg) = (xf)g (Vo e M) (2.16)

mMOoOOOOOoOoOOoDOooOooOoobOOobOooboOobDOooooooDb sOoooo
gboobooboboboboboboooboMbUOoUobOo 20000

000000xz((fg)h) ==(f(gh))D 0000 (fo)h=f(gh) (00O0D0)0000
0000 2I=200000 I[(MOOOOO)0 S00000000

b mMoobooooooMObOO MOOOobOoooobo MmOOooooobDo
goboobgobobbo rbooboobobog

gboboboboooobobooMmMbOoboboobo roboboobg
U000 MOOOODOOODO

r—1=xp (VreM) (2.17)

OMOO MOOOOODOOODOOODOOOOOOOO /2000000
0000000000 ¢ 00000

pp =¢'o=1 (2.18)

000000000 ¢ 0 o000 o' 00000 0000000000000
00000 MOOODOODOOODODOODOO0OO0O0O0O00O0000000 sMoooo

00 214 SMOO0OO0O0O0000 [:2—200000000 ¢:2+—2' 00
00000 o lid'—20000

mMooooooooooomMUOoboboo 1,2,...,n 000000000000
MOODODODODOOOOoOOOO



00 OO0 i—p (i=1,2,...,n) 000000000

1 92 ...
" (2.19)
P1 P2 - Pn
20000 ¢,7000000000i(=1,2,...,n)0 p; 0000000 70
oo p U0 do0dododododododouoouo

or = ( bz > (2.20)
R

U n=3000000000

1 2 3 1 2 3
o= , T =
2 31 21 3
1 2 3 1 2 3
oT = , TO =
1 3 2 3 21

00 OO0 {,2,...,n} 00000000000 RDO0O0O0O0OOOOOS, 0000

gaon

goon

S, 000000b0o0ob0 nl0000O0ODO S, 00o00oobo0oooooo
gogoobooodon

SiS]’Si = SjSiSj, |’l — j‘ =1
<81, S9,...,8p-1 S§i8; = S;Si, |Z - j| Z 2 > (221)
2 = 1, i=1,2....n—1

7

000 5,040 i+100000000000000000000000000
000 @,i+1) 0000



3 Artin’s braid group

0000 Artin [1] 000000000 nO0ObraidD B, 000000000
OO0 braid0 00000000

3.1 Braid

g3lgoooooooooboboobobob nbbbbDbD PR, . P, 00
000000000 0o0oo0onoooDooDonD @,Q.,...,Q, 0000

ooooooooOoO P (i=1,2,...,n) 00000 nO000O0O0ODODOOO
00000000000000000000 1000000 Q; (j=1,2,...,n)
go0oobobooboobobooboobobooobooboooboDbooobOooo
00000bO0o0b0o0bOboooDbOo0obooDbOOoobOooobooooDooono
gboobd nO000000ODLO0ODOOODODOODODOOLOO nUDODODOO
000 geometric braid 0 OO0 OO 200 geometric braids 0 O 0O 00O 00O
00 geometricbraid 0 000000000000 0O0OO0ODOOOO0ODOODOOO
oooon

PPy Py Py

I S A |

L /
~

G Q2 Q3 CQa

0 3.1: n =40 geometric braid

Geometric braid 0 0 0000000000 (00000000 OOOOOOO
O000oo0)000oo0o0o0o0o0ooOo0o0oooooUooooooooo
gbobobobob32uobooobobobobobooobobobobooood
gg20000000b0o0b0000boob

%\
\ D
il

O 3.2: geometric braid 00 00O

10



nO0D0000D00O0 200 geometric braids A, 000000000000 AB
0OA0 pOO0ODOODOOOOODOODOODOODOODOOODO geometric braid O
O00obod0dn00000000 geometricbraid0 00 O0O0OO0OO0O
gbooooboobooobbuoobd nOO braidd0 0 00O0OB, 00O0DOO0O
braid0 00000000 braidd 0 O0OOOODO geometric braid O braid O O O
gobobobooggoobodgo

00 3.1 B, 000000n000000000D000000O0 braidd00OOO
0O A0000ODACOOOODOODOODODOOOOODO braidODODOO

00 0; (i=1,2,...,n—1) 00 3.30000 geometric braid 10000 B, O

VA
\

1 1 1+l on

0 3.3: o;

D000 Artin00B,0000000000000000000 ([1)[3))0

(3.1)

0;0j = 0,0y, li—j]>2

B, = <01a027 -+ On—1

0,00, = 0;0;04, |Z—]|:1>

0000000000 o2=13=1,2,...,n—1)0000000220000
ooooo s, 00bob0oboboboboboooooooob p:B,— 5,0
gboobooobooon

00 3200000 plo;) 000 (5,i+1) 0000000
G, 0000000 r000000ODO
(o)) =0pn_i (1=1,2,...,n—1) (3.2)

0000 00000000 3400000 “urningover OO0 OO0

11



n

00 3.4: turning over
00 B, 00000 revO rev(o;) =0; (i=1,2,...,n—1) 0000 B, O anti
automorphism (0000 A, Be B, 0000 rev(AB) =rev(B)rev(A) 0000

00000000)0000000 BO {o;} 0word00000O0O0O0OO word
gboobuoobooboooboon

O rev(oi0903) = rev(oeos)rev(oy) = rev(os)rev(og)rev(or) = 030207

O00OrevDOOOO0OODO3500000 ‘reversing 00O OOOO

( ____________ .)

U 3.5: reversing

OO0 ODbooooooooboog B,00 A,-y O fundmental braid 0000

Al = 01 (E BQ)
Anfl = AanO'nfl 001 (E Bn)

A, 00000 nO0D0OO0O0ODOOODOODO positiveO OO 180° 0000
0000 geometric braid (0 3.6) 000000000000 0C0O0OOOOOOO
A, 0AO0O0D0DOOOOOO

12



(X
N
<N

0 3.6: As

00 3.3 A20 B, 0center 10000000000000000000000
000
A’B = BA? (VB € B,) (3.5)

gbooboobgo3rgbooboonbo

AZ

O 3.7: center

0003800000000070 A(DODO A HOOO conjugate0 0000
gogbobouooogooo

7(B) = A7'BA, 7(B)=ABA™' (VB€ B,) (3.6)
000000000000000

A7(B) = BA, 7(B)A=AB (VB¢€ B,) (3.7)
A™'7(B)=BA™, 7(B)A™'=A"'B (VB€B,) (3.8)

13



0 3.8: conjugate
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3.2 Partial order

0000 positive braid Bf 0000 B, 0000000000000 0OOOO
goon

00 B,00 BO positive braid 00 0000B OO0 {o;} O positive word
(0000 ;' 000000000 wrd) 000000000000

00 B, O positive braid 0 00000 Bf 0ooo

B,00 zZODOOOOOO wtd wt(oy) =1(G=1,2,...,n—1)000000
00 BfO00O BOOOOBOOO positive braid word 00000000

gboobgoobob p,obbobooboobd

00 B,00 A BOODOODOOOOO 4,C,eBf0 B=CiAC, 0000000
ooooouoA<BOOOO

ud 34 0000000

BeB' < e<B (3.9)
A<B & B'<A! (3.10)

0000000000 00000D0000
[(3.9)0000) BeBf0OOODODOODO C,=BO0C,=e0000 B= Beel
0000000 e<BODODODODODO e<BOODO BeBrooooooood
ooooo

[(310)0000] A<BOOOOOOOODODODOOOOD C,C, € BXrOoOO
00 B=C,AC, 00000000000000000 B '=0Ct4"¢;ton
0000000D0D0D0OD ¢,00000 ¢, 00000 CB™'C,=A"'0000
B7'<AT'000000 B'<A'000 A<BOOODODOOOODODOOOO
0oo

0000 (3.990000B O positive braid 000000 B>eOOODOODO
ERERE

00 35 B, 00000 o; (i=1,2,...,n—1) 0000 e<o; <ADO0OO0OODO
g GSOZDDDDDDDDDDD A:An_ga'n_l"'O'Z'+1O'i0'i_1"'0'1DDD

goood Cl:An_QO'n_l"'O'H_lDCQ:Ui_l"'O'lDDDD UZSADDDDD

15



00 36scZ0000 A<A*00000000000 D;,Dy>ed A®=
DIA=AD, 00000000000

00 A<A*0000000000000 C,C,>e00000 A* =CAC,
00000000 AC,' =C,A000000000 (3.7)000 (3.8)000
000000 7(CH)A* = ,A00007- 00000000 C>e0000
HC) = (#(C)"' 0000000 (Cy) 'A% = CLADD DD A* = 75(Cy)Ch A
0000000 Dy = 75(C)C; 000000000 AD, = A* 000000
D,>e00000000000000 0

00 37rcZ0000 A'<AD0D0D0O00D0O0CDOD ELE >el A=
EA"=A'E, 00000000000

00 A'<AD0000000000000 C,C,>e00000 A=CAC
00000000 (3.7)000 (3.8)000000000 A=Ci7(Cy)A" 0000
000 B, =Cr"(C,) 000000000 ATE,=A000000 E,>eOD
000000000000 0

00 3.8 71,79,8,8 €Z0000 Am<B<AMOAR<C<A® 00000
000 At < BO< A=+ 000000

00 A"<B<A*"00000000360003700000 Dy,E, >el
0000 A" = D,BOB = EEAT 0000000 A <O < A2 0000
0 A2 =(CD,0C =A"E, 00000000 BC = E,A"+"2E, (B, E, > €)0
000 Ant2 < BC 000000 A%t2 = DBCD, (Dy,Ds > )00 00
BC < A%+ 0000 O

00 3.9 B,00 pOOOOOOO rnsezO Ar<B<A*QO0O0O00OOOO
ERERE

00 BeB,000 {0} (i=1,2,...,n—1)0wordw 0000000000
0350 (3.10)00 e<o; <AOA' <o '<eO000000000D0 3800
0000 A'<B<A*0000 (000 — 0 wOO00000O 0;'0000s
0 wOOOOOO 0;000000)0 0

00 rse€ezZ0O000 r<sOOOOODODODO B, 00000 [rs]0DODODO
gogoogd
r,s]={B€B,: A" <B<A%} (3.11)

gogoosS, 700 O00b0b0bo0obooobo0 qoooobog sToooog
goooon
ST ={stecG:se€S;teT} (3.12)

16



00 3.10 00 3800 [ry,s1][rs, 2] C[ri+72,51+5] 00000000000
000000000000000AOOOOO

00 3.11 [r,s] =A"[0,s—r] 000000

ggouoobooobbbobooooogg

[c] Belr,s00OOD A'<B<A*000000000000D003.6000
OO0 D>e00000 A*=BD0O000O0OOOODO37T00000 F>ed0O0O
00 B=A"EO00O0O0ODO0O0OA*=A"EDODODOOO As"=ED(E,D > e)0
000 e<E<A*" (le. Fe0,s—r]) 0000000 B=A"EOOODOOO
Be A"0,s—r] 0000

D] BEA0,s—+] 00000000000 Ec[0,s—7] 00000 B=A"E
00000000 Ar<B0O0O0O0O0ODOO ELATO0ODODDOD 360
0000 D>e00000 A*"=FEDOD00OOOODO B=A"EOOOOO
BD=A"ED=A0000 BS<A*OOODOODOODOODO Ar<BZS<A*0ODOO
00 Belr,s) 0000

g 3900buouoonobobogd

00 B,00 BOOODO imfBOsupBOOOOOODOODOO

infB = max{r: A" < B} (3.13)
supB = min{s: B < A%} (3.14)

0000 B O canonical length I(B) O I(B) =supB —infBO0O0OOO
00 3.1200380001(AB)<I(A)+(B)0000000000O0
00 3.13 —supB=infB~' 000000

000000000000 00D00000m=supBO0O0O0O BSA™OOODO
B~'>A"" (000 (3.10)00000 infB™ > —m = —supBOO OO0 infB~! >
—supB 000000 »n = infB™' 0000000000 OO supB < —n =
—-infB7'I00000 —supB >infB' 000000000000 OOOO

17



4 Positive braid

0000 positive braids 000 Bf 000000

4.1 Positive permutation braid

00 positive braid 0 D 00000000 00O positive braid (positive purmuta-
tion braid 0 0000 )0 00000000000 DODOOCOCOOOO0OOOODOO

U0 ODO0oopododnD «sgbdobd
a;, Z:j
gixo; =14 o005, |Ji—j|>1 (4.1)
0i0;0i, |i—j|l=1

00 Garside D00 ([6]00 1.2) 0000000000

00 4.1 (Garside) P, >e 0000 P=o,P,=0;,, 000000000
goooog

00 Ps>el P=(o;%x0;)Ps 00000000000

OO0 P>e0000P DO starting set S(P) O finishing set F(P) D0 OO0
goodd

S(P) = {i:P=o0,P, P>e} (4.2)
F(P) = {i:P=Poy;, P,>e}

00 4.2 0000000000000 0OO000O0O0O00
F(P) = S(rev(P)) (4.4)

OO0 P>e0U0O0O00O0 P=AB(A,B>e)00O0O0OOOO S(B)CF(A)O
00000000000 left-weightedd S(B) D F(A)OOODOOOODOOOO
O right-weighted 0 0 0O 0O

00 P > e 000 Oleft-weighted factorization (0000 lw.f.O00O0) P = AP,
O Ale[(),l]DDDDDDDDDDDDDDDDDDDDDDDDDD

00 43 P>e000000000000 Lwf P=AP (A4, €[0,1) 0001
0ooooo

18



00000 P=AB (A€ [0,1]) 000000 Q >e 00000
A =40 00000 ()0

00 430000000000[0,1]0000 braid00O0OO0O0OODOOOOODO
goooboboogon

20 0 geometric braids By, B 000 braid0 00 0OOOOOOOOOOONO B,
ododd20000000o000b0b0bo0B 0dddd0Oo 2000000000
O00000000o0ooo (0410

-
F

04100000

000 By, B, 0000 positive braid 00 0000 B, 00000000000
0000000000ooooooOoooooon (o 4.2)0

\i X
< N\

042000000

00 000200000001 00000000000 positive braid 0000
0 O braid O positeive permutation braid O [ O [

00 Positive permutation braids 0 000 S 0000

00 44 A0 SHrO00000000 AODUODODOD nO00O0OODOOOOOO
positive J 0 0 180° OO OO geometric braid0 0 0O OOOOOOOO 2000
oooooo1gooboooog

00 45 PeSf00000000 A B>eOOOUODOOODODOO

P=AB = A,BeS' (4.5)
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00 PeSroooOoOoOP(=AB)0000200000001000000
0000000 A(CODO B0O0O0O0OO0OC0200000001000000000
000 ABO SFfooooooO

004100 S0 [0,1]000000000O00OO SfO0 S, 00000000
goooogo

00 4.6 STO00 A,A00000000000A4 =A00000000 8,
00 000007000000 SO0 A, 000000

g 00] A 0 AO00000000D0O0O0O0O0O0O0OO braidd0OOOOO
ogoooooooo 1,2,...,n0000: 000000000 ;00000000
O00O0 braid0 0000000 DOO0OOOOOOOOO nOO0OOO braiddOd
godooboooooooooonog

00 Ay, Ay O positive permutation braid D 0000000 000 j 000
100000000:<y 000000 000 j00000000O00O00O0OO
oo l1gboooooouoloooodonoooooooonoooooogg
goooboooooooooooooobooooooooo1gooooooon
Oooooooo 20000000000 g20000000000
gooodoooooodooouoo200o0o0b0ooooonoooooon
ogoog2000000000000000 oo 8,..., 0000000000
gbooooooooooooooolgoooouoooooooooooad
godooboooooooilioodooooooi1oooooooon

00 A, 0 A 000D000DO0DO0OO0OObraid000O 00000000
000o00bOOoooo A, 000b00D000D0 AADO0DOODOO0DOODOODOO
Oisotopy D0 ODO0O0O00ODOODOOOOODODOO Ai=A0000
00]7nes, 0000A, 00000000 O000D0DO0O0OO positive braid O
gobo2000000010000b00d00ooooooooooooooon
00000000 geometricbraid0 OO0 O0O000OO0OO

oo nddonooooonoooon 1,2,...,n000
00000000 000000 »(¢) 000000 (0000O0OO0OO0OOOO
0000000000)D0oooooOoooOooOOoOoOoOoOo 20000100000
0000000000000 00000000 positiveD 0000 (OO0 i<y
godoono . 000ouooodg yoooooooooooooooooo
000000000) 000000000 braidODO0ODO A, 00000QCOCDOO
ogogoood 0

O0000046000000 welS, 000 positive permutation braid 0 A,
0O0D0Ooooogo
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123 4 123 4
0O m = 3 Ty = s 0000000000 braid
4213 42 31

A, A, 00430000

R \V/
\\ /| \\

A A

™ T2

0 4.3: Ay, An,

0000 {o;} O word 000000000 (0O0 Ay, = 01020301, Ar, =
0103000301 000 0000000000)000000 460000000 positive
permutation braid 0 0000000000 {o;} O word 00000000000
braid 000 0000000000000000000000

O0b000B, 00000 geometricbraidd0 00000 46000000000
O0000000o0bDi(=112,...,n) 0000000000

00 4.7 ST 00 A, 000000O0O0OOOO

(1) 7€ 5(Ax)

(2) A, 00000 geometric braid 000000 (000 ¢+1000000
(3) m(i+1) < m(3)

00 3)=(2)00000(2)= (300004, S 00000000 i+10
00001000000000 #(i+1) <x(:)0000(1) = (2)0000i € S(A,)
00000000 A >e00000 A, =0A 00000000000 00
0i+1000000() = (1)000000i000+1000000000
0000000000 positiveD 00000 A, 000000000000000
00 (0440000 A, 0 0; 00000 positiveword 00000000000
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044 0, 0000000000

O 0000 A,,A, 000000 reverse0 00 4700000000D000O0O
gooood

S(Am) = {172}

F(Ar) = {1,3}

S(Aﬁz) = F<A7r2) = {173}

00 48 SO0 ADODOOOOODOOOO
i¢ S(A) & 0,Ae S (4.6)

00 [»]i¢SA4)000000AO00000 000 i+1000000 (O
047 ((2) = (1)0000 s;A00000 i000 ++10000010000
00000ADD00000000020000000100000000000
0o, AecSiOoooon

(<] sAe S 000000cADD0000D02000000010000000
0000000004000 i+100000000000 ADO0O0O004:00
0i+10000000000i¢S8A)0000 (0047 (1)=(2)0 0

U 49 00 480000000000 ODOD0OOOODO
i,j ¢ S(A) & (0;%x0;)Ae ST (4.7)

000 rev(A) D00 4800000000 finishingset 0000000000
gobooodg

i,j ¢ F(A) & Aloixo;) €Sy

00 4.10 [0,1]=5 000000

00 [Cc]Ae€0,1]00000 A<AQOO0OOOOOOOOOOOOOO36000
00 B>eOUOUOOO A=ABO0OO0ODOOODDOD 4400 AeSfoooo
0000450000 P=A00000 AeSroooooo
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D]A=A, €5 000060 ADODDDOODOOOOOpO mp=60000
000000000000 4,4, € S 000000 A,A,€ S-000000
AA,000000200000002000000000000000000
0 positive 000000 mp=6 000A,A, 000000 2000000000
0000000 4,4, 0000002000000000 1000000000
positiveD 0000 AzA, €8 0000000 7p=600000 4,4, 000
000 A (=A)0000000000000004.600 AA,=A;(=A)0
0000000 A, <AD000000000 e<A,000000A4,€][0,1]0
ooooo 0

00470 48)000A000OOODODOOOOOOOOOO
S(A) = F(A) = {1,2,...,n— 1} (4.10)

00 411 S 00 AO0000S(A) ={1,2,...,n—1} 000 A=A000
000

00 0 ADDDOOOOODOOOOOOO0 i(=1,2,...,n—1)0000
i€S(A) 000000004700 7(i+1)<«(;))0000000000i<;00
00000040000 #(j)<x(;) 000000000000 i>10000
(i) <x(1) 000000000000 #(1)=n0000000 #(2) 00000
000000 ¢>20000 7(d)<~(2) 0000000000000 (x(1) =n)
000#x(2)=n-1000000000000000 7#@3)=n-2,...,7(n)=1
0000000000AOCOOODOO ADOOOODOOOOOOOOO 460
0A=A0000 0

00004100 SHf0000000004300000000000000 10
goobooogo

00 STJ[DD AADD0D0DO00 Q>eld Ay =AQO00000000O000OO
O0AO A; O subfactorD 000000

00430 00 [lwf P=AP (A, €SH)000]PO0O0OO P=AB(Aec
SHO00000000000000000000000000000 wt(A) 00
0000000 100000000000 P=4AB000000000O0O0O0OO
S(B)C F(A)OOOOOD

00 S(B) ¢ F(A)DOOODDDOO ie SB)O0DDODOO i¢ F(A)DOOO
00000 i€ SB)0000OO B >e00000B=0,B 0000000
i¢ F(A)DDDDOD (48)00 Ao; € S, 00000000 A =Ag; 0000
P=AB 000000000 A €S, wi(d) =wt(4d)+10000wt(4) O
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000000000000000000000000 wi(A)000000000
P=AP 000000000

00 (x)0000]000000 P=A,P 000 (x)000000000000
O0POOOOO P=AB(AeSH)O00AO A, O subfactor 00000000
0000000000000000000000000

POOOOO P=CoB (Co;eSH)00OC (€ S;) 0 A; O subfactor
0000 Co; O A O subfactor 0000000000000 (#x)O

O0000p e FA)ODOO A=Cio, (CreSHOOOO ¢, 0 Ay O subfactor
O0o0oooooooo ¢, 0 A, O subfactor000 C=0C4, 0, =04, B=B
000000000000000C; = Cyoy, (Cs € SF, iy € F(C,)) D000 Cy O
Ay O subfactorOO0O0OO0O0O0O0O0O0O0 Cy0 Ay O subfactord 00 C = Cs, 0; =
0;,, B=0;,BOODOD0OD000000000OC, = Csoy, (Cs € ST, i3 € F(Cs))
0000 C30 Ay Osubfactor 00 0000000000000 O0OOOOOO
OO0 (x+)000000000

P = Co;B (4.11)

goooodg
000000000000 wt(C)0ODODODO0DO0ODO0O0O0O1000000CO 4
O subfactor OO O OOD0OOO @Q>ed000O0O

A =CQ (4.12)

000000000 Q#e000000 Q=e0000 Ay =CO0O000O0O
P=Co,B = AoiB (Ao, € S D0DDO00DOO wt(4,) 00000000
00000 jeSQ) D00D00412)00 Co; <A, 00000000000
D>e00000

Ay =Co;D (4.13)

00000000 B"=DP,00000P=A,P, 00
P=Co;B" (4.14)

0o0o00ooo0oo (411)0 414900 B =0;B"0000000000 BO
O00o000000B=0B'=0;B"00000041000000000 B">e
00000 B=(0;%0;)B” 00000000 P=C(o;%0;)B” 000000
Co;e 50000004800 i¢ F(C)DOOOODOD A4 €5000000
(413)000 4500000 Co; €5 0000000 (48)00 j¢ F(C)OO
0000000 (49)000C(s;+0;) €S 0000000000 300 Cased
ogogoood

Case 1: +=75000
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P=Co;B”" 00000 ()00 Co; O Ay O subfactor0 00000
Co; (= Co;) O subfactor 00000000 (4.13)00 Co; O Ay O
subfactor OO OOODO =3 000000

Case2: |i—j|>1000

P=Cojo;B”" 00000 (xx)00 Co; O Ay O subfactor 000000
Cojo; (= Coio) O subfactor 0000000 (4.13)00 Co; O A O
subfactor 0000 O0000Ce; O () 00000000000 0O0OO
0O0O0wt(Coy) =wt(C)+10000wt(C) 0000000000

Case 3: |i—j|=1000

P = Cojo,0;B" 00000 (xx) 00 Co; O Ay O subfactor 000
000Coj0,0; (= Cojojo;) O subfactor 00 0000000000
02000000000000() Cojo; O Ay O subfactor 0000
O00Cej0; 0 () 00000000000000D00O0O0wt(Cojo;) =
wt(C)+20000wt(C) 0000000000 G)BO0000 (Cojo;
0 A; O subfactor 000)0000000(4.13)00 Co; O A O
subfactor 0000000 Co; O (x+x)00000000000000O
O00wt(Coj) =wt(C)+10000wt(C)DD0O0D0O00ODOOO

000 (+)00000
000]0000000000000000 P=AB000lwf000000
00 (00000 Q>e00000

A = AQ (4.15)

00000000 Q=e000 4, =4A0000000 Q#e¢0000000
00000000 ieS(Q)00000(415)00 Ay <A, €S8 0000000
0 @48)00 i¢ F(A)DOOOOODO(AB =) P= AP, = AQP, 000000
B=QP 0000000 ieSQ)000ieSB)OOOOOOi¢FA) DD
0 S(B)¢ F(A)DODOOO P=AB 0O left-weighted 0 0 0 0 O O

0412 P>e0000P=AP (A eSHDO004300000 PO LwtO
oooooog S(A)=SP)oooooo

00 [c]ieS(4,)0000000 A >e00000 4 =0;A0000000
0P=AP=0AP,000icsSP)00000

[D]ieS(P)0D0O00O0OOO B>eO0O000O0 P=6,B0000000000
04300000 Q>e00000 A =0,Q 00000000 i€8(A,)00

ggn 0J
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4.2 Left-canonical form

000041000000 1w 00000braidO [0,1] (=SH) 000000
ggooobod

00413 P > e 00000000 POODODOOOOOOOOOO P =
AAy---A, 0001000000

A;el0,1] (i=1,2,...,k) (4.16)
S(A;41) C F(A) (j=1,2,....k—1) (4.18)

00000J left-canonical form (0000 lLef. 000)0000O

00 P=AP (A €0,1)0004300000 POLlwf00000000
S(P) C F(A)OOOOOO PL=AP, (A, €(0,1)0 PO00 430000
00000 A OLlwfO00000000 S(B)CF(4,)0000000000
0000 PO [0,1] 0000000 P=AjAy---A, (A, #e) 0000000
000 P, =A;P0 P, 0lwf 00000 S(P)cC F(4;)0000000
Pj=Aj Py 0 P0lwf000000041200 S(A;,)=S(P) 0000
000 S(Aj4) C F(A;) 0000 0

00 414 PO lef O P=A1A,---A, 00000000 infPODOODOOOO
goood
infP = max{i: 4, = A} (4.19)

O00414000000000000 POlef. P=A1A,---A, 000000
2000obobuoooooboobod

00 415 P>A< A =A000000

0000000000000000000

=] P>AD00000000003700000 Q>e00000 P=AQO00O
0000 F(A) ={1,2,...,n—1}(4.9)0000008(Q) C F(A)0D0000000
P=AQUlwf000000000004.1200 S(P)=25(A)={1,2,...,n—1}
00000000P=A4,(4,---4,) 0004300000 POlwf 000000
041200 S(A)=8(P)000000000 S(A4)={1,2,...,n—1}000
000000041100 A, =A0000

[<] A\=AD0000 P=AAA;---4,00000000 P>A0000

OO0 416 000 j<:00000A =A=A,=A000000
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00 j=i—100000 P = AjAy---AjA---A, 0000000000
041300 S(A;) C F(4,) 0000000 A =A000000(4.10)00
S(4)={1,2,...,n—1}0000000 F(4;,)=5(4)={1,2,...,n—1} 00
000000041100 A=A, =A000000 4_,=A000000
000000 4.,=A000000000000000000 j<i0000
A;=AD0000

00414000 [Klr=fPO0000@G13)00 A< POOOOODODODO
Q>el0000 P=AQUOOOODOOO P>A0O0ODO0DDOO 41500
Ai=A00000000 POLwtD P=AP0000O0DOO0 P=A"QUODO
000 P=A"'QLO0O00 P>A000000 P,=Ay(As---4,) 000
4300000 A OlwfO0OO0OD0OODODOODOOO4.1500 A, =A00000

00000000 Ai=A=---=A,=A0000000 r<max{i: A, =A}
goodd

[>]s=max{i: 4, =A}) 00000000000 41600 Ay =Ay=---= A, =
ADODDDODOD P=A%Ay A, 000000 Agyy---Ap > e 0000
O0s<max{r: A"<P}=infP 0000 O

004180 PO lef DO swpP OO0O0DOOODOOODOOOOOOOOODOO
goboooggbooon

00 417 P>e0000P=AP (A€(0,1])0004300000 PO Lwi.
000000000000000

B>e, BP>A = BA >A (4.20)

00 wt(B)DOOOODOODOOO

(Hwt(B)=000000000
B=e, P>A = A >A (4.21)

0D0000000000P>A000000041500 A, =A0000000
(421)000000

(2) wt(B)>00000wt(B)<kOOO BOOOO (4200000000000
0000 wt(B)=kD0DOO0OO00000ie F(B)0000 B=DBo; (B >e)0
000000 P=g,PO00O0OP =A4,P, (A, €0,1)0 P Olwf00000
000 BP=RBo;P=BP =BAP, 000000

00 BP>AD00000000 wi(B)=k-10000000000000
0 B=B,P=P 00000

BA, > A (4.22)
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00000000ieS(P)00000004.1200 ie8(A4) 000000000
00 A7 €[0,1] 00000 4, =0,A/000000000 o,P=P =A,P| =
o A'Pl000000P=A/P/00000000043000000000 Q>e
00000 A =A/Q0000000 BA" =BoAl =B'A, 000000(4.22)
00 BA! > ADO0O00O00OOBA, =BA/QOOO0000BA, >A000
0oo O

00 418 P>e 000000 PO lLefD P=A1A---A, 00000000
supP 00000000000
supP =k (4.23)

OO0 s=supP 0000

s<klP=AA---A, 0 POlLlcfO000000A4 €10,1) (i =1,2,...,k) O
0000000003800 Pel0,k0000 P<A*OOOODOODO s<k
oooo

[s>klk00000O0O00O0ODOOO

(I)s=0000:

—

P<A’=cl P>el0d P=c0O00O00O00O POlefOOOO
OO0 k=00000 s=k£000000

(2)s>1000:

P<A*000000003600000 B>e00000 BP = A®
0000000000 417000000 BA, >A00000000
03700000 B,>e00000 BA,=AB 00000000
0 P =Ay---A,00000(A* =) BP=BA,P, =AB,P, 0000
000 BP,=A"'0000 PL<A 000 supP, <s—100
D0000P, =A4,---4,0 P,0lef 0000000000000
OsupP,>k—1000000000 s—1>k—100000 k<s
0ooo

ggbobodbb41R80b0oogoobooodad U

oo0o0o P>A"ODOODOP =AT"P>e0000
supP = r + supP’ (4.24)

D0000D0000s =supP OO0ODO P < ASOO0ODOODOOO P >e
oo0oon0 P=A"PO0O00O0OO0OO0OA™ < A*0000D0O0O0OOOOO
Q>el000O0 A*=A"PQUOODODOOAS"=PQO0O0O0O0O0OO0OO
P <A700000 supP <s—r 00000000 supP' +r<supP 0000
supP <r+supP 0DOO0OO0OO0O0OO
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ggbobobooodn
infP = r + infP’ (4.25)

000000000000
00 419 P> e 000000 rev(P) O Lef. O rev(P) = AjA,--- A, 0000

0000 A =rev(d, ;) (i=1,2,...,k) 0000 P=A4;---A4, 0000
00000000

Aie0,1] (i=1,2,...,k) (4.26)
A, #e (4.27)
S(Aj) DF(4) (j=1,2,...,k—1) (4.28)

O00000BraidOD Lef 0000000 (OO 4.13) 000000000000
O000000000000000 P O right-canonical form (0000 r.c.f. O
o0)oooo
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5 The word algorithm

gobbobooodobbbooodb

00 (word problem):
{o;} 0200 words P,QOOOOOOOOODODODD B, 0000O0OOOOO
gooooboogon

5.1 Algorithm

Oo00ob00o42000000 lef.O00OO0OOOODOODOOOOODOODOD
ggboodg

OO0 PO QUlLct000000ODO0OOOOOOOODOODO

P A"A Ay Ay (5.1)
Q = ACCy---Cy (5.2)

0000000 PO QO B, 0000000000000 OL.fO0000 (0O
413)000

r=s,m=n0 A0 C;(i=1,2,...,m) 00000000 positive
permutation braid 00 O O

ooboobooooboooobobooboooogob 4600 PO QUUOD B, O
OOo0oDOoO00oDOoOo0oDooOooDboOooDoOoonD »r0 ALAy,. . A, 000
goboobooon

Algorithm P O {o;} Oword0OO0OOO0O0O B, 000000

Step : 00 reZO P >ed P=A"PO0O00OOOOCOODOO

00000 -0 POOOOOODOODOPOOOOODOD ¢;'0000000
00000 (4100000000 i(=1,2,...,n—1)0000 i€ F(A)0O0O0OO
000000 o €[0,]] 00000 A=0l; 00000000 =A~le; OO
gooboo pOODOODOO UZIDDDDDDDDDDDDDDDWOI"dDD
0000 A™'0@38)000000000000D0O00OO P=A"PPO0O0O0OOO

0 o0,' € B500000000 A = 010301 (= 090100) 000000A™! =
oyloyte,' 0000000 0,' =AYy, 0000000000 00O0O00,"
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00000000 ADOO0OO positive braid 000000000000
o105 = 1A ogoy = A okoy

00 Step 10000 PO P =BB,-- By, (B;€0,1) 000000000
000000 0,0 [0,1]00000000P 000 ;000000 By, B,,...
0000000000000 0000000000000000 wordOOOOO
00000000, 000000000000 subwordJO0OO0O0O000 By O
000000000000000000000

Step 2: 00 4700000P 00 B (i=1,2,...,k)0000 S$(B) 0 F(B)
000000000 di(=1,2,...,k—1)000008(Byy) C F(B;) 00000
0oo

000000 0000 $(B,) C F(B) 0ODODOO0OO0OO 41300
P'=BBy---B,0 P Olcf0000

0000 i0000 S(Bw) ¢ F(B)0DDO00000 0000000000
00000000000000000000 jeS(By)0 j¢F(B)0000n
000000000 G =Boj, Cipy=0;'Bi 0000 C;,Cipy €0,1] 0000
P =B B 1CiCi1Bis---B, 000000000 Cipy =e0000 C;=A
0000000000000 «0000000000000000AO0O0OOO
000 370000 A'00000000000000000000 P OO0
O00000Step2000000000000000000

ud s1 0b0buoaggbbboooad

00000o0oobooobooobooooooB, 0 c;,0bo0Dbo0obOoooDo
00 weight O O

B = (wt(By),...,wt(C;),wt(Cis1), ..., wt(By))

000D000*000000000 BO0O000000000000 total weight
wt(B) (= wt(By) +---+wt(B)) 0000000000000 total weight O
0000000000000000000000000000000000P O
lLef 0000 algorithm 000000

*A = (ar,as,...,ar), B = (b1,bs,...,by) 0000 0000 2000 A,BO0D00OO
1>00
aj:bj(Vj>i) od a; >
000000000 b00oD0AD BOODODOODODOODOODODOODOOODOOoDOOoDODOoODOA>RB
good
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5.2 Implementation

5100 algorithm OO O OODOOOODOODOOOOOOOOOOODNO permuta-
tion braid B; 0000 S(B) 0 F(B)000DO0D0O00OODOD0OOO [§
000000 fractorical coodinate method DO OO S(B;) O F(B;) OO0O
gogoooooobobobod

00 S, 00 {1,2,...,n} 0000 0000000000
§:teS, — ) =1+l 4+ g2+ -+ go1(n—1)! (5.3)

000 ¢g; (1=1,2,...,n—1) 000 ¢t 000 permutation braid A, 000 ¢+ 1
000 1,2,....: Juwnion 0000000000000

O Ss0000¢ooboonoooobooono
1 2 3

t, =
! 1 23

)DDDDDAtlﬂD >10b0bbuogoboood

) =1+0-1140-20=1

X1 TR

goobooo

Ay Ay, t
\ RN
Mo X

Ay Ay, Ay
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gogbbobogogbbbodgo

1 2 3

ty = 00O t)=14+1-1140-21=2

2 9 1 3 £(t2) + +

t 23 )\ goo E(t;)=14+0-11+1-21=3

7013 2 3 ' T
1 2 3

ty = 000 t)=14+1-114+1-21=4

4 3 1 9 £(ta) + +

t 23 \goo Et;)=140-11+2-20=5

V231 5 ' T
1 2 3

to=|, , , 000 Etg) =1+1-1142-20=6

O0000 nO0O00 ¢:5,—4{1,2,...,n—1} 0000000000000
000000000000 000 (;,e+1)e S, 0000000000t€ S,
ggbbobuoooobbbouoooobobod

00000000000000 permutation braid O starting set 0 0 00 0O 00O
0O0o0O0oooooood

0i(=1,2,...,n) D000 O fractrical coodinate method O « 00000 S,
00D 00000000000 (4,5) 000 &nt;) D000 nl00 n—10
000000000000 0ooooooo t+0 (400000 DOOOODOOO
000000 0;A, 0 SHf0000000000000000O000O00 4800
i€S(4,)0000000000 oA, ¢ STO000000000000 S(4,)
0000000000000 0O0O T reverse000000OOO F(A,) ODODODODO
gogooooooo
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5.3 Geometric example

000000 O0o0bOoObbPoesitive braid0 00000000 O0OOOOO
gooooooblefdb0bOO0OO0OO0OOODODOOODODOOOODODO
goooo

000 P = 01030203010309030» 0000000000 braid 00 52(00)
O00000o0o000000 braid O permutation braid 00000000000
oo0oooooooonon

O000000O0braid0000O0O0O0O0O0OOOOO0OOCOOOOOOOOO0
O0oooooooooooooooooooooooooooooooooon
gooodooooodououoooooooooooooooooooon
O00ooooooooooobotubbhaid 000000 OoooOoooooon
O0d0oooodooooooooobooo 2000000000 1ooo0ooo
O0ooo2000b00bobooo0oooboobobodbraid 00000 OooOonO
O000000000000O00000 braidO0O0O0O0O0O0O0O0DO0O0OAOAObraid
0000000d00oboooooOgd P O permutation braid By = 010309, By =
090301, B3 = 030903, B,=0, 00000000 (O 5.200)0

0000 permutation braid 000000 (B; Biyy) 000000B; ., 00O
O0o00doo0oodooooo booooooooooo 200000 B;,O0O0OO
ooooooboooooouoooooboonD ;oo obooooooon
goddooodoooooooooogoooodooooooooonoo
0000000 P = (01030901)(02010309)(02)(02) 0 PO Lef 000000 (O
5.200)0

\

\
X

052 pPOOO
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00 5.2 000000 p|00000000DOODODOOODOODOOOOOOOO
gbobogbobbobodgibobos3buubbugbigubbuodgbboobod
oo0o0ooooooobooOd braidO 03_1DDDDDDDpermutationbraid
goooo

gs3:0bu00boobgn
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6 The conjugacy algorithm
gdodooooooooouood
00 (conjugacy problem):

{o;} 0200 words P,QUODODOOO0OOOODOOO B, O conjugated 00O
gogooooobbbbboooooogooooo

00 AeB, 0 Q=A'PAOOODOOOOODOOO

6.1 Preliminaries
000000000000 000A>ed 000000 OoooooOoooooOn

00 6.1 PO QO conjugate 10000000000 A>e0 Q=A"1PAD
0000000000

0000000000000000000P,Q 0 conjugate 000000 Q =
B-'PBOOOOOC0 BOOOOODOOOODOODOOOOD j>00000000
A%B>e000 (5.10 Step 1000000)I00 A¥BO ADDOO

AT'PA= (AYB) 'P(AYB) = BT'A™¥PAYB = B 'PB =Q
oooo

00 6.2 P,Q (> A") O conjugate 1000000000 6100000 A>e
0 A'/PA=QO0000000000000000A=A1A4,---4,0 AOLlcf.
0000 A['PA >A"00000O

00 00620 r=0(000r=1)0000000000000000000
00000 PQ>A"00000000002000000000000C
()r=2j(jez)000:

P=A2pO0000 P >e0000 Q=A%QO0000 Q >e
000000 Q=A"'PAODDDOOOOD A% 0000000
Q=AYQ=AYA""PA=ATAHPA=AT'"PAODODOOOO
00620 =000000000000000A4;'P'A;,>e00000
00 AJ'A™%PA, >e0000000 (35)00 A'PA; > A% = A7
0000000 r=2j00000062000000

(2)r=2j+1000;:

0000000000 (00620 r=10000000000000
O0)r=2;+100000062000000000000
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gogogogod T:O(DDD TZl)DDDDDD 20000000
Case I: r=0000

A; O positive permutation braid 0 0 0 0 AA;! O positive braid 0 O
O00D0000 positive braid Ay 00000000
ATPA = AJAQ (PA=AQ)

= ATAAQ (A=AA, A=Ay Ap)

= AAQ (4] =AATY
000000 Q>A"=A"'=c00000 AQ>e000000
OO0Do0on0 AfPA>A0O000DO0O B=AP, P=A00O0O
O004170000000APA,>AD0000DO0O0DOOOODO
AT'A*PA, > e 00000000 A;'=A"14:00 A;'PA, >eO
goododo r=00000062000000

Case2: r=1000
P =PA™1, Q=QA'000000 70000
7(A) = AAA™Y ((3.6)00)
= AALAANTY (A= A4 A=Ay A))
= AAATTAAAT
= 7(A)7(4)
000000000 7(A)0 Lef. 000000 Case 100 O000AAT! =
A7 €0,1], AAPA=AAQDO00D0DDDODODODOOO
A{P'T(A)A = ATPAT'7(A)A (P'=PA™)
— A'PA ((3.6)00)
= AAQ (DDDOO0O0)
= AAQ'A (Q'=QA™
D00000APr(A)=AAQ 0000000 Q>A"=A000
00 Q=QA'>AA'=e0000000 AQ >eD0D0000OO
D000 AfPr(A) = AAQ OO AP'r(A)>A00000000
0417000000 AjP7(A)>A0000000000000
T(AT'PA) = T(AT)T(P)T(A)
AATTATTAPATIT(A))
AAT'PATT(A)
= AAT'P'T(4)
= ATP/T(Al)
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0000007 (A7'PA) >ADDD0O0000 A'AT'PAIA>AOD
000 A/'PA,>AD0000000000000 »=100000
062000000 O

0 6.3 P,Q (€[r,s]) 0 conjugate 0 000000000 6100000 A>eO
AT'PA=QUO0O0000000000000 A=A4,---A, 000 AQOlef
O00P =P, P,=A'P_A; (i=1,2,....,k) 0000 P,efr,s) 000000

oo0 P=QO000000000O0O0O0O0ODO

00 (00000000 Relns(=1,2,...,k000000

(1) 1=1000000000 P elr,s|000000006200 P, >A"0
0000000000 AR<A*0000PQ<A*O00 P LQ'>A*000
00000 A'PA=QO00 AP 'A=Q ' (>A®) 0000000000
62000000 A['P'A, >A0000000P, =A'PA, 0000000
Pil=A'"P7'A, 0000000 P'>A000000B10)00 P <A
ooooO

(2)10000000000000000 Py =A4\PAn€[rs)000000
AED = A AL, A, 00000000 AMY O lef00000O00O0

A(H—l PA (I+1)
= (A Ao A) T HATTAL - ATTPAL - A AN (A Ae - A)
=Q

0000000000000000 R<A*00D00000 Q<A*000000
Pl—l’Qfl >AS00000000 A(l+1)_1PlA(l+1) — Q 00 A(lJrl)_lPl—lA(lJrl) —
Q'I0DNO0OAHY ' P 1A > A0 0000000062000000
ANPTTAL > A 0000000P =4, "4, 00000 P> A0
0000 Py, <A*0000 O

38



6.2 Cycling and algorithm

Conjugacy problem 0 0000000 O OO super summit set 0 0 0 OO braid
00oo0oOoooooooooooooooooooo

OO0 PO conjugated braid 000000000000 0O00O0O P OOnfP O
O0o00oO00O0oooooD swypPO0OODOOCCOOOOOOOODDOODOOOO
00 P O super summit set (D000 sss.000)0000

O00000conjugasy problem 00000000000 O0O0O
Algorithm P,Q O [r,s| 000000000
Step 1: PO sss. 00000

POsss.00000000OPOOOOOO [0,1)]0000000 conjugate
O00bOoO0b0O0o0DO0oobo0bDoobD mf0 suyp000ob0OOooOoobOODO
gooooboooooOmt0d0ogoob00swp0boooooooonon
gboodbbsss.0000boobboobooboooboobboon PO
sss.000000000000O000OOOOOODOOOOOOODODOOOO (O
O0000) 00000000 POsss. 00000

Step2: Q O sss. 00010000000 POsss.0ODOODOOODOODOO

O00D00O0OPDO @O conjugate 00D 0DO0OOOOOODODOODO algorithm
goooboobuooboobooboo

P 0O conjugacy class 0 000 infO 0000 PO summit power 00000
000 summit power 0 0000000000000 P=A"PPy---P, (PL#A)
O POlefO0ODO

00 B, 00 ¢P)0DDODOOOOOOOO
o(P)=A"P-- Br'(P) (6.1)
0000 ¢P)0 PO cyclingDOODOO ODDOOO

00 6.4 ¢(P)0 PO conjugate 1 00 OO OO
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00 6.5 P,---Pr"(P) 0 ¢(P) 0 lef000000000000000000O
ooooo

infP infP +1 (6.2)

supP — 1 supP (6.3)
0000000000000000000@O (6.1)0D00@®@O (6.1)0 5.10
O algorithm (Step 2) 0000000000000 O0O0OO ¢(P) € [r,s] 00
000000 P=A"'¢(P)A(A€[0,1)0000000 3800 Pe[r'—1,s+1]
O0000000000000000@oE@uuoooooooogd

infP > " —1 > inf¢(P)—1 (6.4)
supP < §'+1 < supe(P)+1

00000 PO summit power 0O OO0 OO algorithm 00 00O

00 6.6 00 PO conjugate 00 Q 0 infQ >infP 000000000000
0000000POO0O00O0 cyclingd 0000000000000 ¢(P)0O
inf¢(P) >infP 00000000000

00 P=A"PO00O000O0 r=infP, PP=PP---P, (P e[0,1)0 PO
Lef 0000000000 6100000 A>ed Q=APA-'0000000
000000 66000000 AD wi(4) 0000000000000

00 infQ>infP 00 Q=A"Q (Q'>A)00000000

A'Q =Q=APA™ = AA"P'A7! (6.6)
0000 A"QA=AA"P 000000000 =A7(A)P 00000 ATQ'A=
ATT(APO0DOO QA =(AP 00000000 Q >A, A>e00
(AP >A0000000000417000000 7(A)P,>A000000
0000+ 0000000 Ar(P)>AD000000000000 A >e00

00O
AT (P) = AA (6.7)

0000000 m(P)<AOOOOODOOO A”>e00000 A= A""(P,)
00000000 Ar(P) = AA = AA"(P)00000 A= AA" 00000
goo

wt(A") = wt(A) — wt(A”) < wt(A) (6.8)
goooon

T"(P)c(P) = 1(P)A"Py--- P (P) (¢(P)DDODO)
— APPy- B (P)
= Pr'(P)
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gogbobooogd

QAT (P) = APT"(P) (Q=APA™)
= A7r"(Py)c(P)

000000000 (6.71)00 QAA=AAc(P)0000O0O0ODODO ADODODO
00000 AT(Q)r(A) = Ar(A)e(P)DOOO0OO 7(Q)T(A") = 7(A)e(P)D O
000 7(Q) = 7(A)e(P)r(A)-' 0000000 7(Q) 0 7(A) 000 ¢(P) O
conjugate 0 000 0O00O0O0ODODO (6.8)00000000O0OO¢(P)ODODO cycling
Fe(P) =AY P)0D00

infc"™™(P) > infe(P) = inf(P) (6.9)
infc"*™(P) = infc(P) > inf(P) (6.10)
D00D00000D0000000D0 6600000 O

0 6.7 000 conjugacy class 000 00inf00000 supO00O00O0OO0O
ooooog

0 6.7000s.s.s. 0 conjugacy class 0 00 000000 canonical length O O
0000000 oOooDoOobDoooooooooooo

00 POswpO00000000000000000 QO PO conjugate D inf
0000000000000000000 infP <infQ 000 P 000 cycling
Jd(P)000ooon

infc (P) > infP (OO 6.6) (6.11)
supd (P) < supP (00 6.5) (6.12)

000 POswpO000000O0DO0DOOODOO(6.12)000000000OOODO
00000000 M(P)0MfO000000ODO0ODOOODODO ™P)0fOOODO
Usupddoboooogooobo 0

go0ooooPUOsummitpower U0 OO0 0OO0OO0OO0ODOO0OOOOPRPO
cycingD 00000000000 ODOODOOOOOOOODOODOOOODOOD
O0mf0000000DO0ODO0OOOO

P — ¢(P) — #P) — -+ — Jd(P)=c"(P) (0<n<j)
000 PeP),...,0 Y(P)0inf00000 PO summit power 0000000

00 6.8 ¢(P) O cyclingd ¢(P) 000000000 DOOODOOOOOO
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O P =o0y03030005 D000P 0O lef. 0 P = (0109)(09030109)(02) 000 (O
6.) 0000000 41400 infP=0000 41800 supP=30000

0 6.1: PO le.f.

OO0 POcycingOO62000000000000

c(P) = (09030109)(02)(0109)

= (0203020102)(0201)

0000000 ¢P)0 Lef 00000000 infe(P) =00supe(P)=20000

0 6.2 ¢P)0DOO

OO0 cycingOD OO0 6300 0000000000

C2(P) = (020'1)(020'3020'102)
= AUQ

0000000 &P)0Lef 00000000 inf3(P) = 10sup(P) =20
000
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0 6.3: 2(P)000

000 cycling0 0000 3(P)=Acy =c¢*(P)000000OP O cycling O

A(P)0000000D fPOOO0OO0 10000

supP 0000000000000 00OO0OOO 3.13000supP = —infP~1 0
0000000 Pl'OcyeingDOD000fO0000suypd0 00000000
O00000P 'O cycling00000O000O0P O reverse cycling0 00000

000000 P=A"PP---P (PL#A)0 PO lef. 0000

o0 B, 00 r(P)ODOOOOOODDODO
r(P)=A"T"(Bp) Py P
0000 »(P)0 P Oreverse cycling0 00000 OO0O0O
00 6.9 (r(P) ' =7(c(P~1) 000000
00 P=A"PP-- P, 000
Pt o= Pl PrIATT
= AR (R
= AR B (P () A)

= ATTHEHPA) - (T PTA)
000 Pl =P HA (i=1,2,....k) 00000
Pl=ATFp ... P
O0000000000000000
(6.15) = AT (BT TP ) (AT(PY)

= ATHATHRY) (AT (PY)
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0000000 P =ArtYP Y (i=1,2,...,k)00000000000

Pt=A"TFp ... P (6.23)

0000000000000000 P'O0lef00000DOOOO
000000 A/B>eUJO0OO AB=A0O00OO0ODOOODOOO 4400
04500

F(AUSB) = {1,2,...,n—1} (6.24)

gobooogd

00 ~+*(P)P/=A000000000 7+ 0000000 PrHi(P)=A0
00000A=P, B=7"(P)00000 (6.24)0(6.25) OO

F(P)US(r(P)) = {1,2,...,n—1} (6.26)
F(P)NS(r"™(P)) = ¢ (6.27)

goooooooogoooogoo
P(P) = {1,2,...,n —1}\ S("+(P) (6.28)
gooogdg

P = ATr—i—z‘—l (P-_l)

(2

= AR

00 P++-3P)=A000000000 710000000 7+H-4(P)P, =
ADDODOOOA=7"%(P,,), B=P,, 00000

F(r (P ) US(Py1) = {1,2,...,n—1} (6.29)
F(r(PL)NS(Pyy) = ¢ (6.30)

gopoogoboooooogogoo
S(Pit) = {L,2,....n — 1}\ F(z""(PL,,)) (6.31)

00 P=A"PP,---P,0lcf 000 S(Pyy) C F(P) 0000000 (6.28) O
(6.31) 00O S(r"H(P))) c F(r"+(P,,)00000 S(P)c F(P,,) 0000
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OO0 P'Ocycingd 00000
(P =A"""kp ... PlrTTR(P]) (6.32)

0000000000 r(P)r(e(PY)=e000000000000000000
069000000000000

r(P)7(c(P™) (6.33)
= (AT (Py) Py Py )(r(AT 7B - PITTRN () (6.34)
= (AT (P Py P ) (AT R (By) - (PTERY(RY) (6.35)

gogbooogd

Py AT (PL)) = P TRN(BL AT
= BN (P)ATE
A—r—k—f—l

O00000(635) 0000000 ADODOODODOODOOOOOOOO

(6.35) = A"7"(P)ATT L (P
Aflel(Pk),]J#kJrl(Plé)
A_IT(Pk)TT+k+1(P];)

= A (P (P))
ATr(
A

gogbobeonnnod U

goooge900b0O3.130000 supPUOODOOODOODOOO

supr(P) = —inf(r(P))™!

= —infr(c(P7")) (OO 6.9)

= —infe(P71)
gboogod

supr’ (P) = —infd (P™1) (6.36)
000000000000000 P Le(PY),...,d (P10 inf00000 sup
ggboobooogooo
Pt — (P - AP - o = P H=(PH((0<n<y)
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O00DpPQOODOOO0O algorithmOOD00OO0O0OO0O0OOOOOODO PO s.s.s.
0000000000 0000 d cyclingd reverse cycling0 0000 P O s.s.s.
0000000000000 bD00ou00DooDdn eyelingODODOODOO s.s.s.
00o00oooboobon

000 P=o, 000 0; (1=2,3,...,n—1) 0 o7 O conjugate 0 00 (O 6.40
6.5)000000 o, 0 cycling0 0000000000 0O0000OO oy O cycling
O0ddbwordD oo OO 100000000

0 6.4: oy
X/
/X
X _
AKX
XN\
0 6.5: o3

O005200000000000sss. 00000000000 GarsideO al-
gorithm O 00000000 algorithm OO O0O000O0OOOO
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00 A Concluding remark

oooooodioodooooooooooooo
g [7“1,’/’2][51,82]:[T1+T2,$1+SQ]DDDDDD

0 [c]003800000000

D] Pefri+r,s+s 00000000 P=A""24,4, - A, A"17"2P =
AjAy-- A0 A7 2P0 lef00000(4.24) 00 ri+ro+k =supP < 51+
O0000000 ti=81—1, ta=so—r D000 0OkK<t;+t, 0000

(1) k<t 000

P =A"AAy-- A, PP=A 00000

P e [r,ri+k C [r,ri+t] = [r,s]
P” € [7"2,82]

0oO0O0O0 P=PP'O000000000
2) k>t 000
P'=A"A Ay Ay, P" = AT Ay 1Ay e A, 00000

P e [ri,ri+t] = [r,s1]
P" € [ro,ra+k—1t1] C [ro,ra+1ta] = [re,se]

Ooooog p=PpP'00000OO0DOOO

000000OPE[r +s|ra+s] 00000 0
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